No. of Printed Pages : 20 BEVAE-181

BACHELOR OF ARTS (BA)/BACHELOR OF
COMMERCE (B.COM)/BACHELOR OF SCIENCE (B.SC)

Term-End Examination
December, 2021

ABILITY ENHANCEMENT COMPULSORY COURSE ON
ENVIRONMENTAL STUDIES

Time : 2 hours Maximum Marks : 50

THAT TATAh/ATIT TATdeh/ AT STdeh
AT ULet
fearar, 2021
TITEUT STEIT W Tt aefeh ATaTs urssrshu

gqg - 2 gu2 3IfEIHTT 3% : 50

General Instructions :

(i) This is an objective type question paper. Options for the correct answer must be marked
only in the OMR sheet.

(it) All questions are compulsory.

(iit) The question paper consists of 50 questions each of which carries one mark.

(iv) Each question has four alternatives, one of which is correct. Write the Sl. No. of your
correct alternative/answer below the corresponding question number in the OMR sheet
and then mark the rectangle for the same number in that column. If you find that none
of the given alternatives is correct, then write 0 and mark in column 0.

(v) Do not waste time in reading the whole question paper. Go on solving questions one by
one. You may come back to the left out questions, if you have time at the end.

T 3397 :

() I8 U qEgi48 Jo7-97 & | J¥9] & T&1 [d%eY Hac7 OMR iz 7 ferf@e |

Gi) T 3o7 ST &

(iii) 39 F¥9-Y7 7 50 F¥7 & for74 I J97 U 37 H 3 |

(iv) ¥ o7 & G TR 19907 &, 979 & T @al & | 3.TH.3IR. e § [H3ogar
T&T fahey/ 3T BT HHIS TTT J97 G&IT & 717 107@ 37 o7 35T FH7h & 379
W 3G FHicTH H g T | 3R 1Y 10 [# Fi3 o fawey g8t 75 2 al o ford
3N Hicr 0 F forg e |

v R IT-TF F 957 7 GET F9IG 77 BT | TF & G55 T Fo7 Hl Ha 7150 | g
915 4 5T T8, dl 79 §Y Fv] H GART GG T qHal & |

BEVAE-181 1




1.  Which one of the following is an example of man-made environment ?
(1) Orchards
(2) Sanctuaries
(3) Crop fields
(4) Plantations

2.  Who coined the term ‘Possibilism’ ?
(1) Lucien Febvre
(2) Vidal de la Blache
(3) Ellen Churchill Semple
(4) C.S. Holling

3.  Which one of the following is not one of the seventeen Sustainable Development
Goals ?

(1) Life onland
(2) Life on air
(3) Life below water

(4) Climate action

4. Holding meeting in a remote location to minimise public participation is an example
of

(1) Geographical inequity
(2) Procedural inequity
(3) Social inequity

(4) Economic inequity

5. Which of the following views towards nature was proposed as an alternative to
patriarchal system of domination ?

(1) Biocentrism
(2) Ecocentrism
(3) Anthropocentrism

(4) Ecofeminism

6. The main centre of ENVIS is located at :
(1) Bengaluru
(2) Delhi
(3) Ahmedabad
(4) Kolkata
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1. TafaRea @ @ o9 gma-fifa wiawr =1 3w R 2
(1) s
(2) IIRTY
(3) Wd
4) FEUD

2. ‘@yradrare’ vee fepga faar 2

(1) I Bt
(2) die™ S &1 s
(3) UeH wfal 9

(4) *h.ug. gifem

3. ffafed & & @1 gaq fas@ & 17 a8 § 9 787 B 2
(1) *d § Sfaq
(2) 9y | S
(3) T % I ST
(4) TaTg HEET!

4. SEATIEH 1 HH FH 6 T GG TIHT § 95 A HEAT T ITET 2 |
(1) HrmifeTeh STEHTHdT

(2) HEIfIfeR STEHM

(3) WIS AHHH]
(4) oifefer STEHEAT

5. TP < Uid FfiRed 7 & fore te foar w1 fogqamrers a=ea Jomelt & fashed o &9 4
EUICCRERIKIRII

(1) JAehrgare

(2) WX hgaTg
(3) HMd shegdle

(4) et Iiiare

6. TAfH (ENVIS) % &I %3 6 7 :
(1) «Ig®
(2) Teeedt
(3) 3TBHISTG
(4) hIcAhTal
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7. Primary Consumers are :
(1) Herbivores
(2) Plants
(3) Carnivores

(4) Autotrophs

8. The following components — sulphates in water, acid rain and fossil fuel are part of
the :

(1) carbon cycle
(2) nitrogen cycle
(3) water cycle

(4) sedimentary cycle

9. In ecological succession, the final stage is termed as :
(1) climax community
(2) lichen stage
(3) moss stage

(4) seral stage

10. In an ecosystem, energy is lost in the form of :
(1) heat energy
(2) saprophytic matter
(3) chemical energy

(4) rains

11. At global level the region most prone to natural calamities is :
(1) Australia
(2) Asia
(3) Africa

(4) Latin America
12. Among the following factories, which is not in the “Taj Trapezium Zone” ?
(1) Glass Factories
(2) Mathura Oil Refinery
(3) Mathura Sugar Factory
(4) Brick Kilns
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7. maﬁsssmﬂ?m%
(1) wehweft
(2) @Y
(3) wEweh
(4) T

8. Tou U wew — Ut U Gethe, STl auur qen Sfiaww Sue fohaes v § 2
(1) TeH =5h
(2) TEISH =Tk
(3) S =h

(4) ITIEE Tsh

9. uTifeufaes oTshu U, STgshH I T TEEAT i Hel AT 7 -
(1) = Tge™
(2) TTgeh JHarel
(3) HIE 3TarEAT
(4) ShHeh! (ES) TewAT

10. uTifeyfaes a1 4, S o1 819 fohdsh &9 4 Bia1 8 2
(1) S FAi
(2) FarasE gere
(3) THEfE St
(4) @i

11. Tova T W ST & Wpdeh I o TG Fe A Javr @ ?
(1) ATegier
(2) TR
(3)  3ThIehI
(4) ifeT s

12. fr=fefaa Seef # @ on-dt “a= shifem =7 & 787 2 2
(1) firema Heed
(2) AYU dASNGTTAT
(3) HYT IRt el
4) Twg
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13.

14.

15.

16.

17.

18.

Silent Valley is the narrow valley of the river.
(1) Periyar

(2) Kunthi

(3) Kaveri

(4) Jamuna

The world population around 800 BC was approximately :
(1) 3 million
(2) 4 million
(3) 5 million
(4) 6 million

The temperate deciduous forests have :

(1) Trees with vines and strangler fig

(2) Shrubs with the height of 3 — 5 metres

(3) Evergreen fir and pine trees with 30 — 40 metres height
(4) Trees of 40 — 50 metres height with thin and broad leaves

In India, Teak and Bamboo are common in :
(1) tropical seasonal forests

(2) temperate evergreen forests

(3) coniferous forests

(4) tropical rain forests

In Indian grassland ecosystem, the biomass peaks in the period between :
(1) January to March

(2) March to May

(3) September to October

(4) November to January

An example of lotic freshwater ecosystem is :
(1) lake

(2) pool

(3) swamp

(4) river

BEVAE-181 6



13.

14.

15.

16.

17.

18.

Agcie e J@ R IR Ed R |
(1) UfER
(2) Fofl
(3) T
(4) AT

8000 BC & ile fagar shi o o fera oft 2
(1) 3 faferm
2) 4 faferm
(3) 5 fofe=A
(4) 6 Tferm

Sftarsor qofgrdt a1 9 8 @
(1) o UF TR 3R |fgd &
(2) 3 -5 Uit d HuTs hl ST

(3) 30— 40 W ST It FEEER F 3R g & 34
(4) vae TR =S o= A 40 — 50 HeX HATE a1t I&

U |, dieh T 919 & Ug LRI 91¢ I &
(1) Iwehiesea et ot o

(2) i HeEER o §

(3) WU g&1 a1 |

(4) IrRteseT a9t o §

TR STEeee I | St wgfd oot = o W 39 31afy # 3t 2
(1) SHad & 9= 9%
(2) A @ A qH

(3) THAFSK § 3T T
(4) TR G SHad dh

it (efifesh) Tetaviiar Srefter uTias =1 3gTeTT 7

(1) i
(2) FS
(3) U (ige)
(4) &
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19.

20.

21.

22.

23.

24.

Insecticides, particularly DDT, led to the reduction of population of :

(1) marine fish

(2) deer
(3) rats
(4) birds

Steady rehabilitation of the Great Indian Rhinoceros was hampered because :
(1) enough food was not available in the habitat

(2) ofdifficult climatic conditions

(3) of the rinderpest disease

(4) of competition with other animals

The problem of invasive species is likely to increase due to :
(1) climate change

(2) mining

(3) desertification

(4) heavy rain

Alien species which is known to cause skin allergies is :
(1) Prosopis juliflora

(2) Ectopistes migratorius

(3) Parthenium hysterophorus

(4) Eucalyptus citriodora

Which one of the following is not a criterion for designation of biodiversity hotspots ?

(1) Species richness
(2) Endemism
(3) Accelerated species loss

(4) Lesser interspecific competition

Biodiversity of a geographical region represents :

(1) genetic diversity present in the dominant species of the region
(2) species endemic to the region

(3) endangered species found in the region

(4) diversity of and in living nature
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19.

20.

21.

22,

23.

24.

hieaTeTehl, fo9iy ®9 @ DDT, 7 A<l | it <6 -
(1) wgg wsfer |

(2) feid

3) =@ H

(4) fafexid

[ERISI GRS RSIRIICE R IEIPE R I |
(1) Fifh T T qIieq Mo Uty &l o

(2) hied Srerary feafat & R

(3) Trewee U & Hror

(4) T WA % @1 ARIAET 6 HROT

JATShTHe: TSTTaal <h! THE SeTi]
(1) FAATg FEAT o B
(2) @ % BRI

(3) TOHM Jlg % HRU

(4) TS INT o HR

faresft yefa St o= <t werst! Oe1 it 7, 91 7
(1) FG9g JeeanT

(2) TFINTEET FEHIRTT

(3) T feeetieia

(4) TloreT faigasnT

fr=fafea & & wF-a Sa-fafayar gieeic % 9gam & fov s AFee 787 ® 2
(1) ST St

(2) TeTfeRar

(3) TSI ¢ B Sl calol

(4) YR HH AT gl

ot imiferer & <1 Sa-fafear wan yefifa @t § 2
(1) &= <t yqE et # foemm sgafies fafaga
(2) & <l Teieh SefoRt

(3) & H UTS I el e st

(4) 39 yefa I 3 S yhfa § o I areft fafaer
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25.

26.

27.

28.

29.

30.

Which one of the following animals is found only in Western Ghats ?

(D
(2)
(3)
(4)

Barking Deer

Malabar Grey Hornbill
Sloth Bear

Wild Buffalo

The main source of water for lakes and rivers is :

(1)
(2)
3)
(4)

rainfall
runoff
transpiration

sublimation

Which of the following is not true for red soil ?

(D
(2)

3)
(4)

It supports rainforests and grasslands.

It is found in plateaus and low land areas of Eastern Bihar, Madhya Pradesh
and Andhra Pradesh.

It is good for cultivation of potatoes, rubber and bananas.

It is good for crops of cotton, rice and groundnut.

An ‘aquifer’ is :

(D
(2)
3)
(4)

the boundary between the saturated zone and unsaturated zone in rocks.
a layer of rock through which water percolates down.
the gap in the soil which is filled with air and water.

the gap in the soil which is completely filled with water.

The most effective treatment of alkaline soil is to apply :

(1)
(2)
3
(4)

urea
potassium

sodium nitrate

gypsum

From which of the following types of sources can energy be harnessed using
photovoltaic cell ?

(D
(2)
3
(4)

Wind
Geothermal
Sun

Water
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25.

26.

27.

28.

29.

30.

frefaRed & @ wF-a1 S haer afvedt 9el § € 9 STar 8 2
(1) b fem (few)

(2) TAER ¥ i

(3) TN I

(4) SoTelt S

et 3R Al & et 1 ge 9ia ®

(1) @

(2) difgd 9 (IqaTR)

(3) ITSAICESIA
(4) FEEqEAA

frfafea § @ sH-81 a1« 9a7 % e . 737 = 2
(1) UH 7a1 § af o9 3R 99 o HeH I & |

(2) I8 9 el ToRR, 7ed Yo 3R 37y Y o YoRi W IR F=et i &=l # a8 St
g

(3) JE 3T, T 3TN hell o IcdTEA & foTT 7= Il & |
(4) 9% HUM, IEd TR PTha! 6l Tl o foIe =8t gt 7 |

Th TAW BT B

(1) =gl ¥ Tqed &7 3R rEqed & & off= 6 i |
(2) YeeRl 1 98 Wd o R 1 A= S7d:ETfad gl @ |
(3) &I I A A1 I 3R FA HI & W Frm 2 |

(4) T 1 FAUSA S Tl ¥ qUid: 9 BNl 2 |

& Ta7 o TE YA ITAR o foT fefeaiiad &1 Wi s ey
(1) g

(2) drefrm

(3) wfsam Amgee

(4) oo

frefeaa @idi o Tehrl § 4 fore@ o1 Tehe-aled™ dall g 9Ted shi ST Hehdl & 2
(1) 9

(2) Y

3) ¥

(4) S
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31. The first wave/tidal energy plant was established in India at :
(1) Chennai
(2) Thiruvananthapuram
(3) Kochi
(4) Vishakhapatnam

32. The largest coal producing country in the world is :

(1) India
(2) South Africa
(3) China

(4) United States of America

33. The maximum population that can be supported by the resources of the planet at a
given level of technology :
(1) is the biophysical capacity.
(2) is the social carrying capacity.
(3) indicates standard of living of people.

(4) indicates economic growth.

34. Among the following, which one is the major contributor to greenhouse effect ?
(1) Nitrogen
(2) Oxygen
(3) Argon

(4) Water vapour

35. Which of the following statements is correct for Ultra Violet (UV) radiation ?
(1) UV Cis not absorbed by oxygen.
(2) UV B is absorbed by the ozone layer.
(3) UV Ais not absorbed by the ozone layer.
(4) UV Cis not dangerous.
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31.

32.

33.

34.

35.

IRd B Ugell qUl/Sarid Selt gieEisT Trfud st 8 off -
(1) ==gH

(2) foreadayquy #

(3) A

(4) foemEmT §

forgd 1 TE ST SIFAT 3cITEh < 2 ¢
(1) 9wrd

(2) gferor sThreRT

(3) =H

(4) GIH T IR

g 3Tfuehan Sen & Tenfieh! < fou 0 & = et & dneEi grn gea fomm
W%:

(1) S9-2ifde aruHdar a2 |

(2) ETHTN ROTEHAT HEAT 2 |

(3) AT o SEH-FaX o TR § St 7 |

(4) 3T iy 1 Tk ot B |

frafafed § @ SF-E fireee ywe § e JweE o @ 2
(1) -TEgeH

(2) IS

(3) M

(4) TA-a™q

e fafermr (Uv) & foe fefafea 0 @ se-ar e g & 2
(1) UV C SATereisH gr STeiiya T2 gim 2 |

(2) UV B 309H 9 gRT Faenfyd gar 8 |

(3) UV A M WA gNI Te=Tyd 8 8l 3 |

(4) UV C g+ T8 2 |
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36. Which one of the following can cause skin cancer and cataract in humans ?
(1) Ozone
(2) UV radiation
(3) Acid rain
(4) Methane

37. Which one of the following is a secondary pollutant ?
(1) Ozone
(2) Carbon dioxide
(3) Carbon monoxide

(4) Sulphur dioxide

38. The standard level of RSPM is :
(1) 60 micrograms per cubic metre
(2) 70 micrograms per cubic metre
(3) 160 micrograms per cubic metre

(4) 170 micrograms per cubic metre

39. The Kyoto Protocol deals with which environmental issue ?
(1) Greenhouse gas emissions
(2) Biological diversity
(3) Ozone layer depletion

(4) Persistent organic pollutant

40. Hotspots are regions of high :
(1) rarity
(2) endemism
(3) critically endangered population

(4) diversity
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36.

37.

38.

39.

40.

fefafea # @ fraes Fror o § o= Ser iR Hifoateg &t dehar 2 2
(1) A

(2) ST fafeRt

(3) TV aui

(4) A

Freferfan & & - T Sgwe 2 7
(1) 3TH

(2) e SEIATFIES

(3) <hIEA AIFIFHTSS

(4) T SEAFIES

RSPM %1 @M= & Bl 2 |
(1) 60 ATSSHIIM Fd Rferh HieT
(2) 70 HISSHIIM Fid Rferh HieT
(3) 160 HISShIUT Jfd Ffereh WX

(4) 170 ATSShIUT Jfd Fgfereh WX

ore qarfaefi fawr =t sl Weiehial | e foham T o 2
(1) TFER=E i & Fehma

(2) Sa-fafagar

(3) AWM WA &

(4) drefeomft FEfs TguH

giewie 3= % &7 Bid 3 |
(1) gawar

(2) TR

(3) TR ¥ @ fageaumy wmiy

(4) Tafaea
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41. What is the main aim of the 1987 Amendment of the Air (Prevention and Control of
Pollution) Act, 1981 ?
(1) To enable an integrated approach to environmental problems
(2) To set up State Air Pollution Control Boards
(83) To set up Central Pollution Control Board

(4) To introduce stiffer penalties

42. The Forest (Conservation) Act was enacted in the year :

(1) 1972
(2) 1974
(3) 1980
(4) 1986

43. Which convention took up the protection of ozone layer ?
(1) Vienna Convention
(2) Basel Convention
(3) Stockholm Convention

(4) Montreal Convention

44. Which one of the following is generally not a recyclable waste ?
(1) Glass
(2) Metals
(3) Medical waste
(4) Plastics

45. Which one of the following is not a method of waste minimisation ?
(1) Process modification
(2) Waste concentration
(3) Treatment of waste

(4) Waste segregation
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41.

42.

43.

44.

45.

Iy (et framr wa femon) sifufem, 1981 1987 % Eie #1 HET A&T R 7 2
(1) TIER FHETST & foU Toh HTehicid SUNTH T&TH hidT

(2) TSY 91g TGuT =07 St <hl TATIAT HEAT

(3) HeH TguYT T S1E T T BT

(4) hel TS T UM HHT

I FeEIw S fohg Y i g 2
1) 1972
(2) 1974
(3) 1980
(4) 1986

fore e § SIS TXd <hl F&TT ohl IMHE feha T 2
(1) forear weeH

(2) wEA gHEH

(3) WIhaM HHTH

(4) Wif-IA THTH

frefafea & & sF-a1 FmT=a: ki SuiTe g7 7 ?
(1) frema

o

(2) 9rqu
(3) Tafercas smfsre

(4) TATEEH

frfafad & @ wF-E smfime =i fafy 727 2 2
(1) fshan § qitacH
(2) ITURTS Higdl
(3) STUfISe IT=R
(4) STIRTSE JAFHT
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46. Which one of the following is not a method of disposal of hazardous waste ?
(1) Sanitary landfills
(2) Incineration
(3) Dumping at sea
(4) Underground disposal

47. Which one of the following is not correct in the context of biodiversity in India ?
(1) India has 6 biodiversity hotspots.
(2) About 33% of the recorded flora is endemic.
(3) India has 10 biogeographic regions.

(4) India is one of the 12 centres of origin of cultivated plants.

48. Which one of the following does not represent ecological significance of forest ?
(1) Supporting natural ecological system
(2) Moderation of global climate
(3) Protection of biodiversity

(4) Providing aesthetic and spiritual value

49. Which one of the following is not included in the category of Non-Timber Forest
Product ?
(1) Medicinal herbs
(2) Edible flowers
(3) Animal hides and bones
(4) Edible fruits

50. Joint Forest Management was firstly implemented in the State of :
(1) Haryana
(2) West Bengal
(3) Madhya Pradesh
(4) Kerala
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46.

47.

48.

49.

50.

ffafaa & @ wi9-a1 Geheerft smufire % fuem (fFrearor) &1 ol 737 2 2
(1) & rsfha

(2)  WEHIRI

(3) \ER T &qu

(4) qftrma Fraem (faeeamor)

R i Sa-fafaerar & el & fr=fafaa & @ oF-a1 &t 787 8 2
(1) YRd # 6 Sa-fafaear gfeeaie 7 |

(2) T 339 TS fobu Tu diert i wemfaat wenfaes 8 |

(3) WRA H 10 JAe-wNMiferes & 8 |

(4) WHA Gl It Yt hl Icqtd o 125l § 8 Th 2 |

fafafga 9 9 w991 99 & itfeufas gew & Feun 7587 @ g 2
(1) Tepfeh TTRfEfde T o1 T8I &1

(2) YHSHE Jadry S TeH
(3) Sa-fafawd 1w

(4) Hicdaiygeh 3R eATicHeh Agw T il

frafafaa 9 @ -9 Mdwdt a1 Iare i 9ufi § wfva 787 2 2
1) e Sh-gfeat

2) @ Fa

(3) MRl &l W 3R &gt

(4) €I %A

ohe TS 3 99 UE HYH 91 YaEA i AR feRaT o 2
(1) @

(2) ufeaw sA

(3) T TeW

4)
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